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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
LEVEL 03 :

FINAL EXAMINATION 2012

QUANTITATIVE TECHNIQUES FOR MANAGEMENT- MCU1207
DURATION (03) THREE HOURS

DATE: 25.02.2012 TIME: 9.30am-12.30pm

Answer any five questions.
Use of a non programmable calculator is allowed.

QL. i) Find the value of the following expression when x=2 and y=1

o+ vt —ay+ 52
(- yYx+y)

(ii) Simplify the following expression

(x* - yz)(x3 —l-l)
(x— y)(x+l) (x2 —x+1)

(iii)  Solve the following equation
x*-2x-63=0

(iv)  Solve the following simultaneous equations
x+3y=14

2x—y=7

) “A” is elder to “B” by 10 years. 5 years later “A” would be twice as old
as “B”. Find the age of “A” and “B” at present.

Q2) (1) Simplify the following expressions

(ba)%(az _bz)%

a)
b*(a—bW(a +b)Ya-b)
b) Logx™ +Log y—Logx

Log (xy)

(i In an arithmetic progression (AP) the third term is 11 and the sixth term is
23. Find the sum of the first five terms.



(iii) Ina geometric progression the fourth term is twice. The third term and the
first term is 5. Find the sum of the first five terms.

| (iv)  What is the annual interest rate of a bank if it pays Rs. 2500/=1{or a
deposit of Rs. 2000/= after 4 years? (Interest Compounded Annually)

Q3 1 Find the differential coefficient of the following functions with respect to

n_n

X

x*+3
2x+4

@ 2 +2x* +7x+4 ) P +)HE2+3) (©

if) Find the value of "x" that would make the value of the function
y=x%—-6x+7 aminimum.

iii)  Find the integral of the following functions with respect to "x".

(a) x*+4x+3 (b) J;+—J1?

iv) Evaluate
4 .

flox? —5)ax | '

2

Q4)  Briefly explain the following methods of data collection highlighting their
advantages and disadvantages.

(i) Secondary Data

(ii)  Postal Questionnaire
(iii)  Interview Method
(iv)  Direct Observation

Q5)  The following data describes the “years of service” of 40 employees.

10 15 4 9 24 16 17 12
9 14 6 16 8 19 15 8
12 8 20 7 30 20 1 6
e 17 3 15 17 9 24 11
7 21 18 7 5 3 17 8



(i) Construct a grouped frequency distribution table considering class intervals | o
as 1-6, 7-12, 13-18, 19-24. ’ :

(ii.) Construct a histogramme for the above. _

(iif) With the help of the histogramme find the mode of tht;, data.

(iv) Construct a cumulative frequency curve (OGIVE) for the d'ata.

(v) With the help of the Ogive find the median.

(vi) Calculate the guartile deviation using the Ogive.

(vii) Describe the distribution of data.

- Q6)  Table (A) below gives the weekly income (Rs.) of eight employees randomly
selected while table (B) gives the weight of eight screws (gm) randomly selected.

TABLE (A)
[ 8400 [ 7800 | 8100 | 7900 | 7750 | 8150 | 8250 | 7950 | i
TABLE (B)
| 43 [ 87 [ 93 [ 152 | 124 | 23 1175 93 |
i) In respect of each data set calculate the following, separately.

a) Mean

b) Mode

c) Median

d) Standard Deviation

e) Coefficient of variance

) Skewness (use Pearson’s second coefficient)
ii) Critically compare the two data sets.

Which data set has a greater dispersion? Explain with reasons.

NOTE s — _ SMEAN — MEDIAN )
* STANDARD DEVIATION
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x*-2x-63=0
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x+3y=14
2x—y=17
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(i) g GuEpsssd agsslulss (geometric progression), 4b s g 3b o minTer
8l WLRSTGED. (1pHs0 5 2 piysseie sl {Hdk GIg;lrsmsujamsuras HIF 6.

(vi) sukiE Qs qpum. 2000/= eneully (p&eSlpme; 4 aupLRissts Ceiem gHLI,
2500/= suypr@Lonullsit aiseir suBLBE eullg efsHn wrTE? (Fwl @ sullg
RUHLIHBSID HemndaluGalams)

Q3 0 Hereumd Osmipur@eaissr "x" Geriturear aemsull Gd
GANSHIGENGNS GRS,
¥ +3

(@ x*+2x2+7x+4 (b) (x3 +3)(2x2 +3) (o) .
2x+4

[T}

i} dersuggy Qemibumigst Qupioasluflenar asfeowrs@n “x” s
Quuauianans Erais. y=x" —6x+7

i) Uaeuph Qerfhur@ssiar 2" Q@miuren @g;rrsma;uil.,@aa
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() x*+4x+3 O T
& N

‘ 4
iv) sGsGS. I(sz—ﬁ)dx

2

Q4 deiiaumd He| Craflly (pemmsmer SsubfeT oig@isneonss, ga &nBUIBIEEETT
' GIUI G snso0s alneGs.

() . @renspsrs sre (Secondary data)

(ii}) HUMsL etemaCsrs:g (Postal Questionnaire)
(iii) GEismewmss wenp (Interview method)-

(iv) Brry owugrafiiy (Direct Observation)

Q5) Msireuqpid, sreyssr 40 emfuiisallsEr “Graneu Gn@uﬁlaasmsnéa" &ITL_(Bletmen,

0 15 4 9 24 16 17 12
9 14 6 16 8& 19 15

12 8 20 7 30 20 1 6
6 17 3 15 17 9 24 11
7 21 18 7 S 3 17 8

(i) 1-6,7-12, 13-18, 19-24 agub augly B Genaflsamsnss
&HHHE LEramB, @ suGUUISSOLCL. Wome LjbUsd s rer
SILLsenameald SUTfEESs
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(iii) Bgmet LcOBETENT . Sellujl 6l HaIEEHSSEIRT OEMTHIGE SIS
(iv) .g_r,m'_:uf_L sraymansatan Gisn Wigner amenuiaw (OGIVE) siminés..
(v) gfa o galy s BmLwuSDHmeand HensEs.

(Vi) qdla) susemuilmen o LBLTESE, STEment elFmy s Henlbes

(vii) srei upbusmey allsidbEEm.

6)

Slp suBLD slr_l_sﬁsmsum (A) siguordpred Gafla; Gaiwiu’y qlE vemihumsTiasatlsr
AIMITHE auEITeNEmS (uTlissaish) SHmHabsTE, SILLasne (B) srupLomBmings
Gsfley Geiwiiul L aufl syesals Bmpsmst (Sljmidla) HHEBEIME!.

S L enemam (A}

8400 | 7800 | 8100 | 7900 | 7750 | 8150 | 8250 | 7950 |

- L e
[ 43 | 87 | 93 | 152 | 124 [ 23 | 175 | 93 |

i) PRGRTm sSrag CENGHGGD Ussuguaabmng Halboaiunss Hanlsbgs.
. Bamt.. (Mean)
b, aisrnp (Mode)
C. @enin (Median)
d. B elsossd (Standard Deviation)
e. wmifimait @emastp (Coefficient of variance)
f. Skewness (pufler Gredi_raug GemshHmanl sl LBH5HD)

ii) Grail sSrag AsTGHsmenuD sHisafawns glije.
ok Gieys Qs uaflu unbuseeud (dispersion) Gesnswisiengi?
G GBI GEHL 6 alsTdHEE.

GICi: 3(MEAN — MEDIAN )

Sk.=
¥ STANDARD DEVIATION
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